
www.indianafurniture.com 

Open Bookcase End Below Surface Installation Instructions 2298-66006  

Parts List: 

BRACKET, L, 8.95"L X1"X1", ALLOY 
Screw, Self Drilling #8-18 X 1/2 Hex, Washer Head, #2 Point Steel Self Drilling, Zinc 
Screw #6 X 1/2 PPH DT Zinc 

Step 1: Hold bookcase flush with existing top and tight against.

Step 2: Attach using L-Brackets spaced equally. Brackets are to be fastened to back of
bookcase and underneath the existing top metal leg. Use Screw #6 X 1/2 PPH DT Zinc to fasten to 
the back of bookcase and use Screw #8-18 X 1/2 Hex, Washer Head, #2 Point Steel Self Drilling, Zinc to 
fasten into the metal leg. 




